go(v’#l:m)

Checkpoint 8C and 8D

Name:

Period:

Integrated Math 2

Include all necessary math work or explanations for each question.

1) Alex gave a survey to 100 classmates and records his

g . ™
e X t
information in a two way table. However, he forgot to fill in some of Reba:o}(he Dt'ﬁe"ﬂuéﬁid Totals
the results. Complete the table. [ Saw the movle 20 Yo 60
[ Did not see the movie fo 30 Ho
[ Totals 30 70 100
A 4
2) Use the information in the table above to answer the following
questions.
a) How many people did not read the book or see the movie? 3o
b) How many people saw the movie? 6o
c) How many people saw the movie and read the book? 2o
3) A survey was given to a doctor’s patients who caught a cold one Did not catch D
winter and whether or not they exercised regularly. Use the table to Caught a cold a cold Teitals
answer the questions. -
: E
a) How many patients were surveyed? 5O xercised . s # ]
Did not exercise 10 2 12 ]
b) How many patients exercised? 5 & (| Totals 18 32 50 ||
p J
c) What's the probability that a randomly chosen patient
caught a cold and did not exercise? (o/cp = '/5.
d) What is the probability that a randomly chose patient exercised and did not catch a cold?
30/50 = :5/-r
4) A survey was given to boys and girls in regards to whether or not they p —
played tennis. Use the table to find the probabilities. Has played Has not
a) P(girl) Y230 = 3 tennis played tennis | Totals
s ! 1 [ Boys 10 6 16
b) P(has not played tennis) /30 5 Girls 10 2 1
[ Totals 20 10 30
c) P(has not played tennis given sheisagirl) = 94 - & \ P,
'« 7
d) P(played tennis given he isaboy) = (2 ~ £
[ Y
5) A biologist surveyed a type of plant growing on a wooded acre. Use - \
the table to find the probabilities. ll.-:::e(i N(I,.g::::d Totals
a) P(lobed leaves) = 5 = (3 _
7io0 iy oWt wr SR (| Red Berries 12 48 60 |]
No Red Berries 40 0 40
b) P(red berries | lobed leaves) = '~ _ 3 [ ]
5> 1 3 Totals 52 48 100
cok w8 B h i
c) P(red berries) =, c =06 er Lo,
d) P(lobed leave | red berries) = ' ~ SL = 0.2 or L&)



6) Of the people who went to an amusement park last week, 85% rode a rollercoaster, 45% attended a musical review
show, and 18% did both.

a) What is the conditional probability that a person who rode a rollercoaster also attended a musical review show?

A-. rede ralleveoas e ?(B ]A\ - P(ﬁ'ﬂb‘-‘ B) = 0.1%2 : &r

B atiendd musical review P4 0. 85
b) Explain the meaning of P(rode a rollercoaster | attended musical review). Then calculate the probability.
OU"" of atl Ty-t.op'-&- wWho ottewatrd muvsical review ) +he Ques Froy, asles
-FQ{' N Proloa..L { “’;—._} oF o ‘P‘—fsmq r‘r‘d‘.u'ﬂ.‘h reller C.ﬂuif(,r-_
& P (Aot 3 o8 _- ‘ E
P(A13) o = o Tlo-H\er| 707 _ _

7) Half of your 200 classmates went to the zoo. Of the students who went to the zoo, 25% saw the dolphin show. Explain
how to calculate the number of students that attended the dolphin show.

[00 peepte wemt +v Z2eo

160(p.2¥) =@sw attedtid Lolphin slow

/7:92:

8) At a recent swim meet of the swim club me i i Ver a previous

swim meet. The probability of a swim club member experiencing an improvement in their race time and training the week
before the meet was 30%.

a) What is the probability that a swimmer trained the week before the meet given that his or her race time improved?

Qrm‘l"“fﬂaq _ P(AHE) O, 3o =-3:: ”
g'. r:44im{ (moreved ‘P(A' }8> = P(D) = o.fo K r@

b) The probability that a swimmer did not experience an improvement in his or her race times and trained the week
before the meet was 10%. What is P(trained | did not improve)? And w0k

; _ P(tremed ok vmpooed) elo =) =5 Do
it Yot rmpuer ) = PC A el not rmpreve) = It =R [222

jo ~ M.
/Q/)'Izlf of a class took Form A oFa test, and half took Form B. Of the students who took Form B, 39% passed. What is the
cenditionat probability that a randomly chosen student took Form B and passed?

P( Pms:ed wnl Aoele Form 3)
d| took Form = B
T ('Passe ] - B\ P(4ook Form B)

0.39 = 5= =7 05-0.M=X = o s or 1.5%

10) 75% of a research team worked in a lab while 25% of the team worked near a pond. Of the researchers who worked
near the pond, 14% collected insects. What is the probability that a randomly chosen researcher worked near the pond
and collected insects?

P(FWMBME%-Q)

P((o!(-«?c-l- ingecty arek GWoerle "-{‘L’“f’ﬁ"éj

P(coltect msects| worle mear posd ) = PCuorle mear Pond)
l‘ so Teoliest o po—J):ofr? ’ o. 1y =# =D X =0.14:0.2F% :mx

11) The probability of drinking Water on a long hike is 0.85, and the probability of eating trail mix is 0.42. If the probability
of drinking water given that you eat trail mix is 0.95, is drinking water independent of eating trail mix? Justify your answer

with math. PlAl B) =PCA) ? A waley
0.95 7085 [3: et mix
S A D net A de pemdint

12) The probability of going to the pool on a hot summer day is 0.65. The probability of splashing a lifeguard is 0.08. If the
probability of splashing a lifeguard given that it's a hot summer day is 0.18, is going to the pool independent of splashing a

lifeguard? Justify your answer with math. A splasii~y  [ife guand
5 16 ()
-P(A,{rs) ;PCA.) ? B Ummd-"‘},
0.3 7 0-03
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